1 | 2 | 3 [ A 5 [ 6 [ 7

REV | SIGN [ DATE DESCRIPTION APPROVER
Text color(ElFEH) - 59.5x5.0rmeiﬁEE%PANTONGm%(%@) 9720+0.3 A B 03/3117| Initial release Chen Bo
UVW A#isy bl c /N [10/11717 | Change the print and add the note Chen Bo
Font(=#%) : Arial -~Q A A 11723717 | Add the forque force Chen Bo
El Text high(5E) : L.0mm AL EEE: 0.50mm A D A |o4704718] Change the plating specification Chen Bo
595 P ——I THIS IS CAD DRAWING, DO NOT REVISE MANUALLY!!
: ; Material:
: — N ® |tem @ Terminal housing: PBT (UL94V-0)
T VB 3 ® tem ® Terminal screws with washer: Steel, Ni plating, M6.0
H H H 9 ® [tem © Terminal nut: Steel, Zinc plating, M6.0
& T I
R( R 1T o - A @ |tem @ Female contact -01: Copper ,Ni plating
| | = < A ®ltem @® Female contact -02: Copper ,Ni plating
— A @ |tem ® Female contact -03: Copper Ni plating
p L. —— A @ |tem @ Female contact -04: Copper ,Ni plating
LR <— Q @ [tem ® Terminal nut: Steel, Zinc plating, M5.0
224, 595 A ® [tem @ Terminal screws with washer: Steel, Ni plating, M5.0
- - A ®ltem () Terminal nut: Steel, Zinc plating, M3.0 12Kgf.cm
® [tem (®) Terminal nut: Steel, Zinc plating, M5.0
A 66.0 ® [tem (D Terminal cover: PBT (UL94V-0)
N o3| {20 210_a 3-180 ® ® Electrical: cULus (UL1059)
A 9 2 x| ~ |A ® \oltage rating: 600 V
o << b i 53 ® Current rating; 4 A
w| & Y °§ - E 2 ® Screw: Mé
| = £ Ky @ A ® Screw Torque : 80Kgf.cm
2 = = ® Applicable wire(AWG):  871/0
- < ® \vithstanding Voltage: 22 KV
p— T — ® (Operating temperature:  -40°C to +115°C
28.0 ® O < \@ ®e safety Approval: =B
- . 3 i - - ® (Criti i jon:
Section P-P @ §> Section R-R & T-T @ Section 0-Q Critical dimension: A
60.0 - N _
67.50£0.5 A
@/\Use 30Kgf.cm force lock screw A
| III /l/l \\ 1 II_|
é\_ 7 1 L
> 0: |§ I ‘ .:E Al
i AT - Amphenol CUSTOMER COPY |
© < ALL RIGHTS RESERVED. REPRODUCTION OR ISSUE TO THIRD PARTIES IN ANY
- AN YTE K FORM WHATEVER IS NOT PERMITTED WITHOUT WRITTEN AUTHORITY FROM THE
_<—| PROPRIETOR. PROPERTY OF ANYTEK TECHNOLOGY CO., LTD
¢ §° TITLE YJ-100 Power terminal (114A) Print: U V W
A L -J PART NO. | YJ10003210HCG DWGNO. | 8YJ0002-100
APPROVED | CHECKED | DESIGNED DRAWN CUST NO. XTOleranBESO
WR AR BT R AR L AR ! : =
= ., oo [ 0w | © S Pl X
Y 00" @ Mark DL/0L18 | 02/24 16 SHreT 001 | Rev: D -

1 2 | 3 | A | 5 | 6 | 7




